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TEST VARIANTI RAQAMI: 1935491
INGLIZ TILI

Ushbu test varianti 30 ta test topshirig‘idan iborat. Uni bajarishga
1 soat vaqt belgilash tavsiya etiladi. Natijani bilish uchun javoblaringizni
javoblar varaqasiga belgilab, rasmini @dtmxizmatbot orqali jo‘nating.
Sizga omad tilaymiz!

Test varianti raqamini javoblar varaqasiga to‘g‘ri ko‘chiring!
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1. Choose the correct answer.
. . . is largest city in the world?
A) What B) Why C) Who D) When

2. Choose the correct answer.
What . . . you do if you were in my position?
A) would B) will C) did D) do

3. Choose the correct answer.
At this time tomorrow I . . . my essay in class.
A) will be writing B) will write C) write
D) will have been written

4. Choose the correct answer.
Mike forgot to take the spaghetti out of the
water and . . . went soft.
A) it B) he C) she D) they

5. Choose the correct answer.
He suffers rather badly . . . migraines.
A) as B) for C) from D) of

6. Choose the correct answer.
That boy is very . . . . He can win math
contest.
A) cleverly B) most clever C) cleverer
D) clever

7. Choose the correct answer.
Jane asked if I could hear two students . . . an
argument.
A) are having B) having C) to having
D) to have

8. Choose the correct answer.
She is busy with her homework, you’d
better . . . her alone.
A) invite B) punish C) leave D) advise

9. Choose the right expression of the underlined
words.
He paid 2 s. 6 d. per book yesterday.

A) two cents and six dollars

B) two pence and six pennies

C) two sents and six dinarius

D) two shillings and sixpence

10. Choose the correct answer.
The teacher said to the student, “Why were you
absent yesterday?”

A)The teacher informed the student that why
he had been absent the next day.

B)The teacher asked the student why had he
been absent yesterday.

C)The teacher asked the student why had been
he absent the previous day.

D)The teacher asked the student why he had
been absent the previous day.

11. Choose the correct answer.
What kind of books . . . you interested in?
A) have B) are C) do D) did

12. Choose the correct answer.
− Sorry mum! I’ve broken a plate.
− You . . . be more careful.
A) should B) may C) can D) need

13. Choose the correct answer.
− On Monday evening I’m going to a disco
with my friend Lucy.
− . . . .
A) So will she B) I like it too
C) Neither is Pete D) So am I
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14. Choose the correct answer.
Wrap your scarf . . . your neck to keep warm.
A) at B) around C) of D) with

15. Choose the correct answer.
. . . has parked in my parking place. Where
shall I put my car now?
A) Nobody B) None C) Anyone
D) Someone

16. Choose the correct answer.
This farm has a great number of . . . .
A) ox B) sheep C) goose D) cow

17. Choose the correct answer.
If I forget his birthday, Andrey . . . upset.
A) got B) had got C) would get
D) will get

18. Choose the correct answer.
That was the . . . performance I’ve ever seen.
A) worst B) bad C) worse D) worser

Read the text and answer the questions according to it.

Ninja is a famous symbol in Japan and many people around the world know about this dark-clothed
figure that is great at fighting and can run on roofs at great speed. A ninja is a kind of secret agent, spy
and fighter in Japan. The main functions of a ninja were to fight, to get into an enemy’s building and to
spy. In the 19th century, the ninja became popular figures in art and literature. Artists and writers wrote
about their abilities, such as walking on water and being able to control the natural elements. Today we
see them around the world in movies, comics and games. Japan will use the ninja in tourism over the
next few years. Ninja will promote Japanese culture in the 2019 Rugby World Cup and in the 2020 Tokyo
Olympics.

19. According to the passage, what is the colour of
clothes the ninja wear?
A) black B) white C) pale D) red

20. According to the passage, which of the following
abilities does ninja have?

A) running on the roofs fast

B)winning in the Olympics

C)controlling human mind

D)playing rugby successfully

21. All of the following statements are TRUE,
EXCEPT . . . .

A)The ninja were able to disappear suddenly in
a few seconds

B)The ninja will be used in tourism over the
next few years

C)The ninja had abilities to fight, to enter the
place and spy

D)The ninja became popular in literature in the
19th century

22. According to the passage, what will the ninja help
promote in Japan?
A) rugby B) art C) culture D) olympics
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Read the text and answer the questions according to it.

The world’s first robot police officer has started working. Its name is “RoboCop”. It went into service
for the Dubai Police last year. Robocop’s first official duty was to meet guests at the opening of a security
conference in Dubai. Apart from greeting visitors, its job was to answer questions and give directions.
RoboCop has a tablet, a small portable computer, for people to communicate with. People can use this
tablet to pay traffic payments and use other police services. The tablet is linked to a police station, so
people can talk to human police officers. In addition, RoboCop can speak six languages, including English
and Arabic. The 170-centimetre-tall robot can also shake hands, recognize people’s emotions and face
expressions.

Dubai Police say RoboCop is the first of many robot police officers for the city. They say by 2030,
25 per cent of the Dubai police force will be robots. The officials commented that “The future is here now.
The age of the robots is no longer coming. It has already arrived.”

23. According to the passage, what was the robot’s
first official duty?
A) to welcome people
B) to open a conference C) to comment news
D) to catch robbers

24. According to the passage, what can RoboCop do?
A) It can run very fast.
B) It can write in Arabic.
C) It can shake hands.
D) It can jump very high.

25. All of the following statements are FALSE,
EXCEPT . . .

A)The officials said the age of the robots had
arrived.

B)RoboCop can speak more than eight
languages.

C)By 2030, half of Dubai’s police force will be
robots.

D)RoboCop’s first duty was to catch thieves in
streets.

26. According to the passage, how many language
can RoboCop speak?
A) twenty-five B) eight C) six D) four
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Read the text and answer the questions according to it.

In English, there is an idiom "Let the cat out of the bag." It means to tell a secret. One day, a man
went to the city to sell things. "I have a baby pig for sale. It won’t cost much," he said. He held the
animal above his head. He was lying. He offered the pig to a woman named Beth for one gold coin. She
wanted to buy that pig because of low price. Beth gave him a coin. He gave her a bag and said, "Here’s
your pig." Beth looked at the bag. It was moving. She opened it to let the pig out. There was a cat
inside. "He tricked me. It isn’t correct." she said. Her friends stopped him. Someone said, "We need
a fair person to solve this." They went to the judge. The judge asked, "Can you show how he did it?"
"Look at his bag," said Beth. She opened it and let a cat out of the bag. That’s how the idiom "Let the
cat out of the bag" came out.

27. What is this text mainly about?

A) It is about a common belief about cats.

B) It is about the origin of one idiom.

C)Masters of lying who will go to jail.

D)People who should see evidence carefully.
28. According to the passage, what did Beth say after

she was tricked?

A)Can you show how he did it?

B)We need a fair person to help.

C)He tricked me. It isn’t correct.

D)Look at my bag.

29. According to the passage, where did the man hold
the pig?
A) In the pocket B) Above his head
C) On the surface of the bag
D) In the basket

30. According to the passage, why did Beth want to
buy a baby pig?

A)The price of the pig was not high.

B)She wanted to let the cat out.

C)She knew that there was a cat.

D)She wanted to sell the pig again.

Test varianti “Test topshiriqlari to‘plami 2019” asosida shakllantirilgan:

1 – 32-bet 21
2 – 40-bet 42
3 – 21-bet 42
4 – 14-bet 60
5 – 27-bet 2
6 – 16-bet 14

7 – 24-bet 22
8 – 42-bet 7
9 – 8-bet 35
10 – 35-bet 3
11 – 19-bet 11
12 – 26-bet 25

13 – 32-bet 34
14 – 29-bet 37
15 – 12-bet 20
16 – 8-bet 30
17 – 38-bet 1
18 – 18-bet 51

19 – 70-bet 181
20 – 70-bet 182
21 – 70-bet 183
22 – 70-bet 184
23 – 95-bet 141
24 – 95-bet 142

25 – 95-bet 143
26 – 95-bet 144
27 – 108-bet 61
28 – 108-bet 62
29 – 108-bet 63
30 – 108-bet 64
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